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Which number is missing from the middle of the last triangle?

8

4 6
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4 5 2 18 9
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Which number replaces the blank and Which number is missing from the empty circle?
completes the sequence?
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Which number follows next?

QLOL0I0LE,
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Which box is the odd one out?

Which letter is missing?

JNLNL

000000000000aec0000a0 m mMm < m I—J

(=



&H &

Which letter goes in the empty segment to Which number should go in the empty box?
complete the sequence?

P ] W 4|7
A
A F B C 2|2
K D
8 (12
M Y
A E 3|1
N
7
Which letter goes in the empty circle? Melinda and her father love

puzzles. When Melinda’s
cousin asked her how old

@ @ @ she was she told her:
“If 1 doubled my age and
subtracted 1, it would be
the same as my father’s

age - and if you reverse
the digits of his age, you
get my age.”

Can you work out

o @ o =
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Which letter is missing from the bottom Which number is missing from the last row?
friangle?

O @ ®

N @ ®
S 06 ®
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of the last star?

missing from the blank segment?
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Which letter is

Which number is missing from the centre
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Which number is missing?



&

Which letter replaces the blank and
completes the sequence?

&

Which number logically completes the grid?

SIEEE

EEE

el el

Which letter is missing from around the
centre of the wheel?

o] L]

&

Which letter goes in the empty box?

B F J
I K M
D I

0000000000000 0000a0 m mMm < m I—J

(=



000000000000 00000000 m M < m l—)

88

P

&

Which letter goes in the centre? Which number is missing from the wheel?

D
>

9606
oUe
CRCAC

Which of the bottom boxes completes the sequence?
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Which playing cards complete the sequence?

A ey o | Ty
ol v v
v v
¢ v v v v
i A
v
v v
| i & |
v
“
v ¥
¥
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Which of the boftom boxes completes this sequence?

A
ARE
8 Mo
DN

Which number is missing?
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Which letter replaces the blank and
completes the puzzle?

Using these six maiches, make three
squares all the same size.

&

Find the missing value.

24 21

63 24
@‘@H@ ! |33

e (e
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Which number is missing from the
empty segment?

>
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Which number is missing? Becky had a large packet of
biscuits. After eating the first
one she gave half of what she
had left to her friend Ella. After
eating another one, she gave
half of what was left to
Chelsea, leaving her with just 5
biscuits.

How many

biscuits were
in the packet
to start with?

L

Which letter is missing from the last star?

Which letter replaces the question mark?

B G E
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Which letter goes in the empty circle?

(1
050
OO
2

Which number is missing from the empty segment?

O

L

Which letter goes in the empty box at the
bottom of the pile?

A|C

D| G

Which number comes next to continue
this sequence?

CPppRR
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Which letter is missing from the empty
segment in the bottom circle?

Which number goes in the blank box and
completes the puzzle?

111}
PN | ECH | KON
KN | N | N
N | LN | .

L 2

Which number replaces the question mark?

3 6 S 7
4 22 45 3
3 1 ? 3
9 3 4 8

Which letter goes in the empty segment?
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Which of the boftom boxes completes this sequence?
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Which letter finishes the third circle?

&

&

Which number completes the last grid?

(5 @
ey 9 @ @

B

Which number goes in the empty box?

N | N |
BN | EIN |
Ir-ir:13
Lir=-ir 1§

Which letter completes this puzzle?
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Which letter goes in the empty box? Which letter completes the wheel?

& &

John arranges 4 matches to Which number comes next in this sequence?
make an upside down glass
and puts a small coin to one
side. He promises to buy Gary 7
a drink if he can put the coin

inside the glass just by moving
two matches and nothing else. 1 3

C|L

H|Q
(o

Can you see how
he did it? O 24

——a» 45
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Fill in the empty ellipse

ast grid?

the question mark?

f':! )

Which number is missing from the las
a ill repl

What shape will

>0

It

Which number is missing?
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Which letter goes in the empty link and Which number is missing from the middle
completes the chain? of the last grid?

Which number confinues the sequence? Draw the correct markings in the last box.
000 000 000
@) O
10 0
O O @]
16 0 o) 0
000 o]e @)
34 0O )
000 ole
@) O
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Which shape is the odd one out and why?
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Which number goes in the middle of the third triangle?
) 25 31 4 21

Move one match and make this sum correct.

. :ZV
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Which number goes in the empty box Which number is missing from the bottom grid?

and completes the puzzle?
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Which number completes the grid? Maove just four matches to make
seven squares.
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Which number replaces the question mark? Which letier goes in the bottom box?
2 4 5 6 J

(0]
3 2 7 7

S
11 10 8 8

Vv
15 It 11 12
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What is missing from the empty box? Which number continues the sequence?
1(0 1
J|Q
&
1|8
13
R|I
29
2|4
X

L

What time should the blank watch be showing?

—
-~
5:55 ﬁi:ﬂﬂ 2:ic

—
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Which of the bottom boxes finishes this puzzle?

* (O *
JAN
JAN O
x *
A O
JAN
Al O
A
* *O
A
A O
x A
B C
7
O |4
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What time should be showing nexi?

H:3c H:35 4

C
LA
j—
Ca
LA

&

Which letter goes in the empty corner? Each number from 1-25 inclusive is fo be put

&

in the grid so that each row, column and
corner fo corner line adds up to 65.

J N H o 21 4
8
F D G v
13
w E N 16
25 2
R M R P
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Which of the boftom playing cards completes the top line?

i A I o

Ao b

v*e 1-**
vy | Ky
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Which number is missing from the empty Which number is needed to complete
segment in the web? the puzzle?
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Which playing card completes the puzzle?

| (ia &)

*'P*
v v

g

I-I. *

Ty

Fill in the empty box.

11

17
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Which number is missing from the boftom circle?

Simon, Steve and Stewart are Which letter is missing from the empty
all apple farmers who pool circle?

their crop each year to make
cider. For this year’s harvest,
Steve supplied three times as
many apples as Stewart, and
Simon supplied twice as many
apples as Steve.

If the total number of apples
supplied is 900 tonnes, how
many did each of them

contribute?

ORONO.
ORONC
O ® 6
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Edward spent $21 on drinks
for a party. If the bottle of
vodka he purchased was twice
the price of the case of beer,
and the lemonade was half the
price of the beer, how much
did Edward spend on the beer?

Which numbers are missing from this puzzle?

14
11
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Which number replaces the blank?

CRCRG

VRS
JOCC

Move two matches o make seven squares.
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Which two playing cards are needed to complete this puzzle?

S o |
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Which of the three letters at the botiom Which number is missing?
completes the puzzle?

2

Which number confinues the sequence? Which letter replaces the blank and

completes the sequence?

3




Which playing cards are needed to fill in the blanks?

O & |

F'Y
v
"I__;."Tj-" * E‘
2
* 3
+9 Eyl i
.
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Which number goes in the empty box? What is the missing line value?

OV \I? \I7 VK

COEICEA 660«

&

Which letter goes in the middle?

()
@EE
@EEOE
Q000000
Q0000
®%®

OEOEEEEM®




&

Which number comes next?

1-2-5-10-13-26-29-7?

&

Which number goes in the middle of the last star?

19

Complete the puzzle. What is the missing line value?

RSl s = 2 -
N | W | E el
| |
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Fill in the empty circle.

6
6

U]

& ™3

E@

Which letter goes in the empiy circle?

G
(P)
O

> ©
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@
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&
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What is the missing line value? What goes in the blank comner of the

middle square?

36 40 50 23

v X 4 @ |3s 5 2 4 10
X X X @ |41 7 N Q 3
4 v X @|? 1 G 9
M v = v 37 2 4 1 2
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Which number is missing from this
column of boxes?

3|1
2|5
8|4
7 |12
17

16|23

s

What is missing from the blank segment?

&

Helen’s watch needs repairing.
She sets it correctly at 4:12pm
but three hours later it shows
8:00pm. After a further two
hours she notices that it

reads 10:32pm. — l
She goes to |

bed early and Z
gets up when 9 55'
her watch | J
shows 6:46am. 6
What time is it

really? —

&H

Which number is needed to finish the
puzzle correctly?

AEE
SEE
ojojo
SEE
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